JL_

Vertical Division with aHelper Grid

Name:

Solve each problem. Answers
1) 2) 3)
7[251 5[175 2[912/0 -
2.
3.
4,
5.
6.
2) 5) 6) !
1|656 2|953 7|100 8
9.
7) 8) 9)
9|422 1|941 5|740
1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1 3/5r6 2) 35 3  4/6/0 . 3516
71251 51175 21920
21| 15 8 2 35
41 25 112
35 2|5 12 3, 460
6 0 0
4 656
5. 476r1
6. 14r2
9 656 5 47]6r1 6) 142 4018
1{6 56 2|953 71100 8. 41
6 8 7
05 15 30 9. 148
_5 14 28
06 13 2
_s 12
0 1
7) 4l6r8 8 941 9 148
91422 11941 5|7 40
36 9 5
62 04 24
54 14 20
8 0 40
40
0
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